
8917 8917.5 8918 8918.5 8919
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

34

34.5

35

35.5

36

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

2.5

3

3.5

4

4.5

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

7377

7377.5

7378

7378.5

7379

7379.5

7380

7380.5

7381

ru
n

run:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 7379}



8917 8917.5 8918 8918.5 8919
cyclenum

112.5−

112−

111.5−

111−

110.5−

us
l_

1X

usl_1X:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

7

7.5

8

8.5

9

us
l_

4a
Y

usl_4aY:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

55.5

56

56.5

57

57.5

us
l_

4e
X

usl_4eX:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

13

13.2

13.4

13.6

13.8

14

14.2

14.4

14.6

14.8

15

15.2

us
l_

4e
Y

usl_4eY:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

41.5−

41−

40.5−

40−

39.5−

us
l_

12
X

usl_12X:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

7377

7377.5

7378

7378.5

7379

7379.5

7380

7380.5

7381

ru
n

run:cyclenum {run == 7379}



8917 8917.5 8918 8918.5 8919
cyclenum

151−

150.5−

150−

149.5−

149−

us
r_

1X

usr_1X:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

7.5

8

8.5

9

9.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

212.6

212.8

213

213.2

213.4

213.6

213.8

214

214.2

214.4

214.6

214.8

us
r_

4e
X

usr_4eX:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

5

5.5

6

6.5

7

us
r_

4e
Y

usr_4eY:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

40−

39.5−

39−

38.5−

38−us
r_

12
X

usr_12X:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

7377

7377.5

7378

7378.5

7379

7379.5

7380

7380.5

7381

ru
n

run:cyclenum {run == 7379}



8917 8917.5 8918 8918.5 8919
cyclenum

31002

31002.2

31002.4

31002.6

31002.8

31003

31003.2

31003.4

31003.6

31003.8

31004

31004.2

us
l_

co
il1

usl_coil1:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

6349.2

6349.4

6349.6

6349.8

6350

6350.2

6350.4

6350.6

6350.8

6351

6351.2

6351.4

us
l_

co
il3

usl_coil3:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

4558.5

4559

4559.5

4560

4560.5

us
l_

co
il4

usl_coil4:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

244−

243.5−

243−

242.5−

242−

us
l_

co
il6

usl_coil6:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

16410.6

16410.8

16411

16411.2

16411.4

16411.6

16411.8

16412

16412.2

16412.4

16412.6

16412.8

us
l_

co
il7

usl_coil7:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

7377

7377.5

7378

7378.5

7379

7379.5

7380

7380.5

7381

ru
n

run:cyclenum {run == 7379}



8917 8917.5 8918 8918.5 8919
cyclenum

26178−

26177.5−

26177−

26176.5−

26176−

us
r_

co
il1

usr_coil1:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

5379−

5378.5−

5378−

5377.5−

5377−us
r_

co
il3

usr_coil3:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

3453

3453.5

3454

3454.5

3455

us
r_

co
il4

usr_coil4:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

578−

577.5−

577−

576.5−

576−

us
r_

co
il6

usr_coil6:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

18423

18423.5

18424

18424.5

18425

us
r_

co
il7

usr_coil7:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

7377

7377.5

7378

7378.5

7379

7379.5

7380

7380.5

7381

ru
n

run:cyclenum {run == 7379}



8917 8917.5 8918 8918.5 8919
cyclenum

425−

424.5−

424−

423.5−

423−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

72−

71.5−

71−

70.5−

70−1X
_c

oi
l3

1X_coil3:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

23.5

24

24.5

25

25.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

465−

464.5−

464−

463.5−

463−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

91.5−

91−

90.5−

90−

89.5−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

22.5

23

23.5

24

24.5

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7379}



8917 8917.5 8918 8918.5 8919
cyclenum

173.6

173.8

174

174.2

174.4

174.6

174.8

175

175.2

175.4

175.6

175.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

59.5

60

60.5

61

61.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

10−

9.5−

9−

8.5−

8−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

187.2

187.4

187.6

187.8

188

188.2

188.4

188.6

188.8

189

189.2

189.4

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

3−

2.5−

2−

1.5−

1−

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

8.4−

8.2−

8−

7.8−

7.6−

7.4−

7.2−

7−

6.8−

6.6−

6.4−

6.2−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7379}



8917 8917.5 8918 8918.5 8919
cyclenum

237.5−

237−

236.5−

236−

235.5−

12
X

_c
oi

l1

12X_coil1:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

85.5−

85−

84.5−

84−

83.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

3−

2.5−

2−

1.5−

1−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

6

6.5

7

7.5

8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

444−

443.5−

443−

442.5−

442−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 7379}

8917 8917.5 8918 8918.5 8919
cyclenum

7377

7377.5

7378

7378.5

7379

7379.5

7380

7380.5

7381

ru
n

run:cyclenum {run == 7379}
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